HENEREREHES

Mt

SH4E1H118 (X))

$:550) (847 : kg)
EES G miEH B = = 1B Z 1B " =

SHE 19% T 32.6 185 123
<Y 28.8 40 30
£S5 1,179.3 1,289 319
HAF LA 188.9 160 20
AATHLA 98.6 530 40
JUFHLA 281.6 1,000 105
LSHLA 136.9 502 20
FHALA 362.2 559 20
FHHLAFE 90.0 2,542 2,300 |52’
TFELSHLA 585.0 998 211
=HHLA 65.8 350 119
<HLA 103.9 589 398
SCh 90.0 110 20
25 ~I8S 93.8 101 30
FF 320.6 3,540 255
FF S 769.5 | 22,700 1,600 [ o0
2007 206.8 189 20
<7+ 98.1 1,059 719
SCat 53.9 500 23
TVAYTAFX 117.6 161 20
F7> 07 1,504.0 779 209
HFHES 250.1 35 20

o 6,625.4




6:550) (81 @ kg )
pHE i miEH o2 = 1B Z B " =

SE 198 FAF A 43.8 1,313 101
22 638.4 519 43
S 61.0 151 30
HAEEA 75.2 53 20
HONE 22.6 698 260
JEZHAN 37.6 67 31
R 39.0 1,119 189
T hSA 144.0 449 20
IXHHT 39.4 500 20
cIOETE 204.7 | 12,121 900
XA A= 1,616.9 3,559 569
XTAHZAR 666.9 1,400 919
ZILAA T3 54.5 777 239
ZILAA 1278 45.0 3,088 1,390 [ oo
UL 1,517.6 1,200 209
7 U % 290.0 6,111 1,931 |G "
<53 173.2 860 189
=X43 56.8 659 381
TFES ] 438.1 589 26
HFFT 119.2 1,450 1,000

EHE 12,999.3




[f¥fa] (BT ¢ kg )

PEE S =V e B E = fE 7 fE " &

BEIEXNRIE 137€|E5 X 348.1 1,519 100
AAZHLA 176.3 739 161
VLA 164.6 750 20
LEALA 722.3 479 20
NALA 264.9 510 360
N3aBLA 2,677.6 598 30
N5S 1,841.8 456 20
N1 49.4 500 100
7> 505.6 611 79
HFH>S 251.3 50 20
>0OX/)Ulb 652.6 1,313 679
S VAVIY 44.6 419 29
oav-A 20.4 589 51
RAXF 58.6 250 129
dEZHAN 258.4 120 20
RORD 376.2 1,000 21
N bS5 A 100.3 250 50
HY= 33.8 3,639 900

fneRiE 7% AZHITSSTA 291.4 2,710 1,650

itiE 2% dEZHAN 59.1 120

B 7€ Ry FHA 1,309.2 450 180

INGHERE 10,206.5




[f¥fa] (BT ¢ kg )

pHE i miEH B = = 1B Z 1B " =
8o 11% ESX 72.7 1,300 50
DR A) UL 27.8 900 100
h 13%& TILTHSH 34.7 81 51
EXTVRS 127.7 269 89
ERVHA 29.4 345 50
<40 20.7 1,000 579
DOEGE 46€ |EhITY 1,561.1 350 250
CHE 12,080.6




67::) (BT : kg )
SRR migE ® 2 & & fm &
HE 198 <73 245.8 1,300 1,000
<5 117.5 800 600
=X457 20.1 800
BERXFEE 137€2|5X 2,270.2 2,300 1,000
12HLA 124.0 800 400
XA LA 780.4 1,000 100
JA5S 224.0 800 50
N 21.4 1,100 100
F+77>39 470.6 600 200
o0av4 54.5 800 150
AXF 115.1 500 100
N2 40.1 3,000 600
<45 54.8 3,500 1,500
=XA57 36.5 800
LiE S5E N2 29.7 7,000 6,000
] 118 E=X 152.5 2,600 1,300
e 138 <45 286.3 1,000 600
=X457 66.4 1,000 700

T2

5,109.9




